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Q. Select the correct of symbols ?

21#9 %13 @7 = 195
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Q. Choose the appropriate combination of sign to solve ?

16 # 8 # 1 # 8

’ ’

A.
B -, 3, =
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Q. /6(3/4?5?8 = 88

(S
A. X , - , +
v(—:—,X,T
B. X, - , =+
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C+l—t'
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Q 35 ? 5 ? 10 ? 15 ? 4
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Q.4 +64 - 5 +45 x 120 =@

Find out the two signs to be interchanged for making following equation
correct ?

Q&+andx ‘EW/MMC
%Xand-

C(&i and -
D@\and +
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Q. If ‘+° means ‘+° , ‘means ‘+‘ , ‘Xx‘means ‘-
what will be the value of the foIIowmg expression ?

{

and ‘+‘means ‘x‘, then

—

Q.1 18+ 6 -27 + 3x12 = ?
/8X6+fz%-:—/z—|1 =»)
/8>(6‘/'3-ll =
Jo§ +7-1%= =

13- 9
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Q2 16-48 +12x 3 + 5
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Type --- 3

Q. Which of the following interchanges of signs and numbers would make the given
equation correct ?

A.- and + , 6 and 4
B.+and + , 4 and 8
C. Xand + , 8 and 6

D.Xand - , 2 and®6
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Q. Given interchange: sign ‘+’ and ‘-’ and numbers 5 and 8. Which of the following is correct?

/

(a] 82-35 + 55=2 29 — g8 *
(b) 82-35 + 55 = 102 g ¥ o

(c) 85-38 + 85 = 132 0 - 0 ~

(d) 52-35+55 = 72 Ct
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Q. If P denotes ‘+/, Q denotes ‘- R denotes ‘x‘ and S denotes ‘=’ then, which of the following
statement is correct?

(a)16 R12 P49 S 7 Q9 = 200 — S

(b) 32S8R9 = 160Q 12R 12 §/ —
(c) 8R8P8S8Q8=57 gy 8T }

-8
D =

(d) 36R4S8Q7P4 = 10
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Q. 'subtraction’, '-' means 'multiplication’ and 'x' means 'division'?

54x6-7+-8+2=?

(a) 63 (b) 57 (c) 69 (d) 61
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Q. Which two signs should be interchanged in the following equation to
make it correct?

(a) x and + (b) + and - (c) + and x [(d) + and +
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